
\fam Beispiel

­1 12345abcdeABCDEαβγδǫ
0 12345abcdeABCDEαβγδǫ
1 abcdeABCDEαβγδǫ
2 ∞∈∋△▽⊣⌊⌋⌈⌉ABCDEαβγδǫ
3 ∐̂̂̂˜〈〉αβγδǫ

4 1234≦a⋐⋑⋒⋓⊐⊲⊳DEαβγδǫ
5 12345aABCDEαβγδǫ
6 12345abcdeABCDEαβγδǫ

1 \begin{tabular}{@{}>{\ttfamily}c|l@{}}

2 \verb+\fam+ & \emph{Beispiel}\\\hline

3 ­1 & $\fam=­1 12345abcdeABCDE\alpha\beta\gamma\delta\epsilon$\\

4 0 & $\fam=0 12345abcdeABCDE\alpha\beta\gamma\delta\epsilon$\\

5 1 & $\fam=1 12345abcdeABCDE\alpha\beta\gamma\delta\epsilon$\\

6 2 & $\fam=2 12345abcdeABCDE\alpha\beta\gamma\delta\epsilon$\\

7 3 & $\fam=3 12345abcdeABCDE\alpha\beta\gamma\delta\epsilon$\\

8 4 & $\fam=4 12345abcdeABCDE\alpha\beta\gamma\delta\epsilon$\\

9 5 & $\fam=5 12345abcdeABCDE\alpha\beta\gamma\delta\epsilon$\\

10 6 & $\fam=6 12345abcdeABCDE\alpha\beta\gamma\delta\epsilon$

11 \end{tabular}


